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Chemistry Sci (
\‘) Lab: Identifying Elements, Compounds, and Mixtures
__Wirections: Read through the review chart below and answer the pre-lab questions.
Elements Compound Mixture
{|e pure substance made up of e/ 2 or more elements that are e 2 or more elements physically
only one kind of atom chemically combined to make combined
[72 e All elements are located on anew substance » Elements used keep their
the Periodi 9 4. ' iginal i t
e Periodic Table of 52 Prapiorties oPiliedlemunis origina propertltas (no
. Elements ¢ ecb Eo e tir d chemically combined)
) 3 ¢ Cannot be separated into any vk ¢ compound, Homogeneous - two or more
are changed :

simpler form chemically or

substance that are evenly mixed,
physically

unable to identify the different
substances

Heterogeneous -a mixture in
which different substances can
be identified

Pre-Lab Questions:
L. What is the difference between an element and a compound?
- / d 2
ﬁ%ﬂ,,&v, % /5 A /u re .sin b sta Qe e / (‘0/’11/9 liin c( ;I are. 2 G-
sne e 8/67/)’\—?/1"/1 ,

2.How is a heterogeneous mixture different from a homogeneous mixture? _ .

//é.ﬁ,rg/j eneold 7 ¥ ///< C i {o sJe oj Sala c/ wh.le /Z O MO GLNED U 3\ =
' -/5 Aike salttra '7[”/‘ (f‘l‘/uf'/ ©/) fj

3. How is the way a mixture is combined DIFFERENT from how a compound is combined?
M/')("/u €4 wmre S /M/ﬁ/j //7[4 9 § gl ///" MNixed /n/Ll/ le f’b"tﬂ/’f’f/‘/’? 6>/f .

ar € c /e, Ac a //;[ com b P4 (( &
4. What is easier to separate, a mixture or a compound? Explain why?
‘——\“ ]

”7/ )( '/(,»V“(/ J /A'Qj il e /{7 Ly cne l’“} 7’ '/9%’/ e /6/(’ . Cl}/&‘;/”&vn 4/{ /A‘?Z“’/ <
' U o e clwepl.
5. Which can be found on the periodic table: elements, compounds or mixtures?
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TYPES OF CHEMICAL REACTIONS NOTES

o
Svynthesis Reaction: when two or more substances € O/ A’ ne

Qynbuasis ¢ o build

during a chemical reaction and become one.
Example: A + B > AB
https://youtu.be/Y3kDZXP4 SA?t=222

T g /
/ 7
2. Decomposition Reaction: describes when one __ (" 0/ //’ aun Cl /7/” ¢ CL% o Aow V7]

into two or more simpler substances.

Example: AB > A+B Dc st po 5-€ " TLO bee g £ owh
b rea ‘: K~/,-”(2—f ‘/V/ 2 ‘{‘( '

hitps://voutu.be/MUensglmzXM

3. Single Displacement Reaction: this is when one element _ Y < ‘P\ e Q& Y\O“‘" I/uf -

in a compound. - p .

P .L( ke W \\LV\ "(wo 502 OW\( ave (}(QIAL'IV\;\‘L

Example: A + BC > AC+B . ; %

-5 and ocnether oufy in.
hitps://voutu.be/OxGibHzxOSI .

4. Double Displacement Reaction: this is when two elements __{ ¢ t’ \M € eow L'] DJJLLC’F 7

s

in a compound. /\/\/\ '
Example: AB+ DC - AC + DB /‘F&"D J Ui,’l» s
L/\’\/
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Chemistry Sci. 8 PREP

Types of Chemical Reactions

/*\l
Directions; Write the correct letter on the line that best defines each term.
Term Definition
!, | /when two or more substances combine
1. Double Displacement ol

together during a chemical reaction and
become one.(A+B — AB)

: - : B describes when one substance breaks
—__2.Decomposition Reaction

down into two or more simpler substances.

(AB - A+B)
: D. this is when one element replaces
/P 3. Single - Displacement another in a compound. (A+ BC — AC+B)

F. this is when two elements replace each

- —-——-A 4. Synthesis Reaction other in a compound( AB+ DC — AC +DB)

L
- _Directions: [dentify the types of chemical reaction using the word bank below:
Synthesis Reaction Single Displacement Decomposition Reaction
| Double Displacement

Dodble @ole |
ouwble Koplt 1.AgNOs+HaS > AgeS + 2HNOs

Q\q 'r\'Jf l« €513 2. Al + N2 2 2AIN

S( \ ;L(j“[ﬁ KQ)(’ LC ;

3. Fe,03 + Hy > 2Fe + 3H,0

Di ¢ om“pos t1ow 4, Mg(Cl03)2 > Mg + Cl2 + 02




Balancmg Chemical Equation Notes

Juick Review

Chemlcal Formula- representation of how elepne VH' g C omlane +O make up
. compound '

Shows TWO things
« . the elements that make up the compound ;
. the number of atoms of each element called___S4 PS¢ V‘\DJV S
H20 = the 2 is a subscript.

(H=2and 0=1)
el -gett -2 B3
CHa Gl HY
CéHsOr (b H: © 0'F
Coefficient is the number of __ /12 (¢ ¢ L / €S in a chemical reaction.

2KI = the 2 represents a coefficient.
So 2 KI units are involved in this reaction.

ik Or KIand KI
~“xamples: |
JH,0 p__) 2. Wocternr nao\e Lb\((_, ' Heo + ('lfz/O - H > 1_7// O = =y

INaf]l =22 Seold  molewles » 2 -Nev/ 2 2|

ZCOZ P e 1 2_ CCZ\Ph O OQ"\OXL’(«GC ” C - 2- : O - L/

Chemical Equation - describe ratlos o 7[\ atomy in a simple way

Balancing Chemical Equations:

Kinds of Number of Atoms ((,) b ﬁ ™ P /
Atoms 7} Ag+HaS, > AgS¢+ H: Smgle Heplaceme
Ag \ .-‘ i ' K
H A , . . |

alKel, W 2|27 . 2 / Z. / [§




Number of Atoms

‘L/?v/ /élu/on ‘f‘jpc/

Kinds of Atoms
L 2Mg + 0; > 2Mgo Synthes's
Mg |  * | S/
ekl My | 2__;, Mg ) ) Z
0 | |
i ’ ¢ j ) /
nonmatol 0.2 (Z O | I =
' Q[’ﬂg o+ C)z. — 2 M9 O
Kinds of Atoms | Number of Atoms e S’ 1/)9 / e D/Jp/&gém///ff
| Clz+ NaBr - = 2NaCl + Br Tl “
Re- = 3 -2)< (e,x,c,e P+\on) [$ ,ﬁ(
u : ‘ '\ it ’W a '“mwp‘
\/\o\'\,Or)GV\ Lz JZ Cl: | = /V)(;L"/M‘\e\o’“w,(,
Na | / | | b“ :?——rqr Sb{ ¢
~ 0\\\4&\‘ Af&5 4 B TF Nt | = 67 t £
¥ N
' \o9e” . i Be” :
] \noA?9 B
Kinds of Number of At : \ % WRAB
Aiﬁmss" u?u(§§0+ H:;n s > CuS #HCl Do wble Displatement
Cu ' '
{v»z*"“\ Cw 'l \ | Lt | |
Cl .
\/\@\o“)”\ 0l /‘2_ vYERRW -
, e A
H _ |
\e & H' 2 z. H | -
| S |
BUA : ( : (
MOV\V"*’\'O\ S q 3 |

Cully +H2S — CuS+ 20 0.,



- Balancing Act

Atoms are not created or destroyed during a chemical reaction. Scientists know that
~“there must be the same number of atoms on each side of the equation. REMEMBER - you

may add coefficients in front of the chemical formulas, but you can not add or change the
subscripts. | '

1. _%_C3 + __L___OZ > _Z__C30 ‘/ 4(5‘901'—//]&,5/7_]‘ O
|Gas | | 2 Gi=1 | & /ZCO,
v ,
20‘*’

2-;___C3H3 + 5 0, O 2 CO; +_“4 Hz0 pumé[g D/}plquh‘/'
/ .<Com[«;bgs1‘t‘0())

- 3|3 c= | |3

H=% | D H= 2 | 8 v g

o2 |10 o=2 |19 i

‘3.._?_/_-CuzO+_'__C L 4 5 Cu+_! COz | S’ . ‘?/Q -ﬁcf,z;ufﬂqup?:
wiol B PV = | |24V CJCO
o= ¥ 1% ~a g ¥ C/'b\ |

| e

C= l I : C= ) , \;C\»LO

_ 4_'_LF_Na+_%_H20—)_iNaOH +i_H; Sbl'nglﬁ’-/‘ D,)/a/cu/emcﬂfl ’L*\q’
vas | |14 v || o
H= £ % H= 3 | &8 / L\)(\'LO-/ \

o= || Y 0= )‘-% / Y *
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5. 4 Mg+ _| 0; > _2 Mgo S?% yyff‘hcffs =

-_',\Mg=‘.2— Mg= | 2/:(? |
0=-Z | % 0= | |2 2My+Oz —>2My0

6. ¥ CHir Z 0:> L COz+ Z 0 ouble s plaeevont

e 11 i |1 (Combwitier
H= Y4 |4 H= .‘
. 2 q CHq*FZOz‘—yCOz*ZHLO
0= 2 {1 o 0=3 |4 | "
7._ZAl+_2 02> _Z AlO3 8&5 Y\‘[’“heS(,SV
Al=| | 2 A= | | 2 2 A O3
0=9 | b e 3|0 201+ 202
8.1 Sn0Os+_2 H>> _[ Sn+_2_Hz0 Sing\e ‘ch\uewm*
dﬂSn= | § & BTN © ., 4+ 3H20
o= 3 |3 g="1 |3 LM
. | 3
H=1: | b H="2 | { 3n®
9.3};P+i02'9_?__l)205 gvv\+\\:¢s";5
p=| | X p= 2 .| 24 = ZP”’OS
0- 2 [lO 0= 5 | 10 Lpg*gg"
10._2 K+ _[ _MgBr.>_2 KBr+_| Mg Stng\e- Disploee ment
K= | 2 K= | 2 WL
., \ Z\L@"&A ’
Mg=| || Mg=1 | | e T
\ M\a
o Il } . K+
w=212 Br=| |2 2
L |
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Balancing Equations
Dnechons Balance the following equations. You must show all your work.

A e zms_ton, Syhesis radion

'ci: | e
-@

Hezly! 1Y L//

@ / _CuCh+_t HS>_s CuS+ 2 HCl Dowble displacemet

C\X ‘ l . ’ Cu ;I ' zam+toﬂ ‘
H o 2 |2 RN N
—Z—C2H6+_§?0292L_C02+§:(?_H20 Double displece ment
~CTZ2IRY . C: | qu v |
< v
OZ e —7 O!2 IAC R
H- b | W12 | : o |
@ 2w
| _LN2+2_H29£NH3 S\/‘Y\‘Huu‘i'f |
AErANE N/ T® 2
Ly B A L L

s,
| O Z_NaCl+ ! F2> Z NaF+_{ cly Single displocemert
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